Industrial Taping & Labeling Solutions

PENSERS =~ NON-ADHESIVE CUTTERS

LabelMoto
DISPENSER
Parts List

Part # Description Notes Used On | Price
LD6000 &
ASM-005-01 Wire Harness for AC Dispensers This part number |ncILA1des all of the wires | LDX6000 Series, S 13.90
to assemble electrical components LD8000 &
LDX8000 Series
ASM-006-01 BRUSH & BRUSH HOLDER ASSEMBLY FOR LD5000 2Pparts asseri':;'iev? d‘:jleythe” notsold || neoooseries | § 20.90
ASM-006-02 BRUSH & BRUSH HOLDER ASSEMBLY FOR LD6000 2 Parts assembled together; not sold |\ 00 coec | s 22,90
individually.
ASM-006-03 BRUSH & BRUSH HOLDER ASSEMBLY FOR LDX6000 2 parts asse';:::i? dtl:’aglithe” notsold | | 6000 series | §  26.90
2P I her; I
ASM-006-05 BRUSH & BRUSH HOLDER ASSEMBLY FOR LD3000 arts assembled together; not sold LD3000 $ 1690
individually.
&
ASM-006-05-1 BRUSH & BRUSH HOLDER ASSEMBLY FOR LD3500 2 Parts assembled together; not sold LD3500 $ 16.90
individually.
2P ;
ASM-006-06 BRUSH & BRUSH HOLDER ASSEMBLY FOR LDX8000 arts assenﬂ;‘:d':jle;her’ notsold | ye000 Series | §  27.60
ASM-006-08 BRUSH & BRUSH HOLDER ASSEMBLY FOR LD8000 2 parts asse'::;';? dtl:)ag"e;he” notsold || hgooo series | §  23.40
To properly mount, spacer mounting hex LD3000 &
ASM-007-01 PCB (Only) for LD3000 AND LD3500 screws (OTS-024-01) and screws (OTS-026 LD3500 $ 7330
01) are needed
ASM-009-01 Wire Harness for LD3000 (PCB to Motor) Connects Motor to PCB Lll?;gg(())o& S 6.70
LD6000 &
On/Off Switch, Power Inlet assembled on LDX6000 Series
ASM-012-01 AC Wiring Plate WITH Power Inlet and Switch Metal component to easily install in LDS000 & "1'$ 15.80
machine. LDX8000 Series
ASM-013-01 DC Photo-Sensor with Terminal for LD3000 & LD3500 L?sgg(())o& $  94.90
LD6000 &
ELE-002-01 Insulated Terminal for Wire Harness (Lug, Press On) Used to crimp onto wire of Motor to LDX6000 Series, S 1.50
connect to Relay LD8000 &

LDX8000 Series

01.2017




\\‘
G START

International

DISPENSERS =~ NON-ADHESIVE CUTTERS

Industrial Taping & Labeling Solutions

LabelMoto
DISPENSER

Parts List

01.2017

Part #

Description

Notes

Used On

Price

ELE-030-01

115V - 25 RPM AC Motor

25 RPM motor for short labels

LD6025 &
LDX6025 Series,
LD8025 &
LDX8025 Series

$ 116.20

ELE-030-02

220V - 25 RPM AC Motor - CE

25 RPM motor for short labels

LD6025 &
LDX6025 Series,
LD8025 &
LDX8025 Series

$ 116.20

ELE-030-03

115V - 50 RPM AC Motor

Standard motor for all LD models

LD6050 &
LDX6050 Series,
LD8050 &
LDX8050 Series

$ 111.20

ELE-030-04

220V - 50 RPM AC Motor - CE

Standard motor for all LD models

LD6050 &
LDX6050 Series,
LD8050 &
LDX8050 Series

$ 111.60

ELE-030-05

115V - 100 RPM AC Motor

Super Speed option for faster dispening
time

LD6100 &
LDX6100 Series,
LD8100 &
LDX8100 Series

$ 120.80

ELE-030-06

220V - 100 RPM AC Motor - CE

Super Speed option for faster dispening
time

LD6100 &
LDX6100 Series,
LD8100 &
LDX8100 Series

$ 12330

ELE-031-01

DC Motor for LD3000 & LD3500

Needs Screw, 0TS-016-01 to mount onto
main plate

LD3000 &
LD3500

$ 3170

ELE-032-01

Rear Power Switch for AC Label Dispensers

Suggested to purchase ASM-012-01 for
easy and fast replacement.

LD6000 &
LDX6000 Series,
LD8000 &
LDX8000 Series

ELE-032-02

Front Power Switch for AC Label Dispensers

Only used for machines with the switch
on the FRONT of the machine.

LD6000 &
LDX6000 Series,
LD8000 &
LDX8000 Series

ELE-033-01

AC Photo Sensor - Standard

LD6000 &
LDX6000 Series,
LD8000 &
LDX8000 Series

$ 111.70

ELE-033-02

Photo Sensor - For Clear Materials

Used on "C" Models of LD's. Works with
regular labels as well.

LD6000 &
LDX6000 Series,
LD8000 &
LDX8000 Series

$ 22470

ELE-034-01

Solid State Relay For AC LD's

Before Disassembling wires, check
connections for easy replacment on the 4
connector pins.

LD6000 &
LDX6000 Series,
LD8000 &
LDX8000 Series

$ 25.70

ELE-035-01

AC Power Inlet for LD's

Suggested to purchase ASM-012-01 for
easy replacement.

LD6000 &
LDX6000 Series,
LD8000 &
LDX8000 Series

S 4.60




Industrial Taping & Labeling Solutions LabelMoto

CSSTART
<) DISPENSER
Parts List

International

ISPENSERS =~ NON-ADHESIVE CUTTERS

01.2017
Part # Description Image Notes Used On | Price
ELE-043-01 12V DC Power Supply, 100-240V AC Input Suggested to purchase Power Cord as | LD3000, LD3500| o =, 5
well, ELE-044-... & LR4500
This is an Adaptor only used with Euro /
POWERADAPTOR-C Euro Plug Adaptor (France, Italy, etc) Schuko plugs for countries that use a Schuko Plug S 3.70
smaller diameter pin plug.
ELE-044-01 3P G ded, 6 Foot (2 All Label
Power Cord - USA rong, Grounded, 6 Foot (2m) ATRAbEl e 690
POWERCORD-B Powercord Dispensers
ELE-044-04 3 Prong, Grounded, 25 Foot (11.8m) All Label
- ! 26.60
POWERCORD-B25 Power Cord - USA 25" Long Powercord Dispensers $
ELE-044-02 All Label
P - Ei huks 2P 2 P 10.70
POWERCORD-F ower Cord - Euro (Schuko) } rong, Grounded, 2 meter Powercord Dispensers S
ELE-044-03 All Label
- 13.20
POWERCORD-G Power Cord - UK ‘ 3 Prong, Grounded, 2 meter Powercord Dispensers S
LD6000 &
Assembled inside the AC Power Inlet LDX6000 Series,
ELE-046-01 Fuse, 5amp, 250V, 5F 2.20
Use, >amp, (ELE-035-01). LD8000 & $
LDX8000 Series
. . LD6000 &
Used on wiring to connect motor wire to .
. N LDX6000 Series,
ELE-047-01 Insulated Spade Terminal relay and Connects to Black wire on AC D000 & S 1.60
P
hotosensor LDX8000 Series
LD6000 &
LDX6000 Series,
ELE-048-01 P i [ iring. 1.80
3 Port Connector Used when having to replace wiring. LDS000 & S
LDX8000 Series
LD6000 &
LDX6000 Series,
ELE-049-01 4 Port C t Used when having t I iring. ’ 1.80
ort Connector sed when having to replace wiring LDS000 & $
LDX8000 Series
ELE-050-01 3 Port Push-In Wire Connector for LR Used when having to replace wiring. LR4500 S 2.20
FHCS , #10-32X1", Screws for Strip Plate, Guide Rod and 2 spaces on LD6000 &
0TS-002-01 1/8" Hex W h ded 1.50
the main plate / ex Wrench neede LDX6000 Series $
LD6000 &
LDX6000 Series,
0TS-003-01 BHCS, Button Head, 10-32 x 1" for LD6050 Main Plate 1/8" Hex Wrench needed LDBOOOeSTes S 1.50
LDX8000 Series




Industrial Taping & Labeling Solutions LabelMoto

CSSTART
<) DISPENSER
Parts List

International

ISPENSERS =~ NON-ADHESIVE CUTTERS

01.2017
Part # Description Image Notes Used On | Price
LD6000 &
OTS-003-02 BHCS, Button Head, 10-32 x .5" for Brush and Sensor Bracket Optional part to permantly secure the | LDX6000 Series, s 1.50
(Perment Mounting) sensor bracket and Brush Holder LD8000 & .
LDX8000 Series
LD6000 &
OTS-003-03 BHCS, Button Head, 10-32 x .375" for LD6050 Relay & Secure mount Used to mound relay on AC Wiring Plate | LDX6000 Series, s 1.50
for sensor (ASM-012-01) LD8000 & i
LDX8000 Series
LD3000, LD3500,
LD6000 &
0TS-004-01 Screws for End Cap for Motor Cover (FHCS, #10-32X.5") LDX6000 Series, | $ 1.50
LD8000 and
LDx8000 Series
LD3000, LD3500,
LD6000 &
Used for the Brush Hold dS
0OTS-005-01 Wing Screw for Brush Holder and Sensor Bracket (10-32 x .5") sedlorthe r;:ack:t erand sensor LDX6000 Series, | $ 1.90
LD8000 &
LDX8000 Series
LD6000 &
Used to adjust the Sensor Horizontally on | LDX6000 Series,
0Ts-007-01 Thi fi Nut Plate (#4-40X.75" 2.50
umbscrews for Sensor Nut Plate (#4-40X.75") the Sensor Bracket LDS000 & $
LDX8000 Series
Used to adjust the Sensor Horizontally on LD3000 &
0OTS-007-02 Thumb: for S Nut Plate (#4-40 X .5" 2.50
umbscrews for Sensor Nut Plate ( ) the Sensor Bracket LD3500 $
LD6000 &
Used to adjust the Sensor Horizontally on | LDX6000 Series,
0TS-007-03 for CLE, | 4-40 X 1" 2.70
Thumbscrews for CLEAR Sensor Nut Plate (#4-40 X 1") the Sensor Bracket LDS000 & $
LDX8000 Series
LD6000 &
Nut, Used for the Ground wire and LDX6000 Series,
0TS-010-01 G d Wire & S Bracket, Hex Nut (#10-32 1.30
round Wire & Sensor Bracket, Hex Nut ( ) Permanent mounting of sensor bracket LD8000 & $
LDX8000 Series
LD6000 &
Mounts to the Motor Cover and the Reel | LDX6000 Series,
0Ts-011-01 | T-019-01) (F 16-1 4 1.80
Screws for Reel Holder Arm (PRT-019-01) (FHCS, #5/16-18X3/4) Hanger Bar (3/16" Hex needed) LD3000 & S
LDX8000 Series
LD8000,
Mounts to the F f th hine, Reel .
0TS-011-02 Screw for Reel Holder Arm (PRT-019-01) (BHCS, #5/16-18X3/4) ounHznoer:a:a(;"/i;, Hei '::: d'e':)’ e LDX8000, $ 200
€ LDXL8000 Series
LD3000, LD3500,
LD6000 &
Converts 3" Label rolls to 1" to mount
0Ts-012-01 Core Holder - 3" (76mm) v " UM Loxe000 Series, | § 1.30
properly on the Reel Holder Bar
LD8000 &
LDX8000 Series
0Ts-013-01 Core Holder - 6" (152mm) Converts 6" ID Label rolls to 3" to mount LDHangTab $ 6.70
properly on the Reel Holder Bar
Used to mount the Take-Up Hub (PRT- LDE00O &
0TS-015-01 Set Screw for Take-Up Hub (PRT-017) (8-32X.25/Black) 017.1) on the motor Shaft (2mm Hex LDX6000 S 1.80
wrench needed to tighten)




LabelMoto
DISPENSER
Parts List

Part # Description Image Notes Used On | Price
Used to mount the Take-Up Hub (PRT- LD3000 &
0TS-015-02 Set Screw for Take-Up Hub (PRT-016) (8-32X.125/Black) 016.1) on the motor Shaft (2mm Hex LD3500 S 2.00
) wrench needed to tighten)
Used to mount the Take-Up Hub (PRT- D000 &
0TS-015-03 Set Screw for Take-Up Hub (PRT-015) (10-32X.125/Black) 015) on the motor Shaft (3-32 Hex wrench LDX8000 Series S 1.90
) needed to tighten)
Used to mount motor onto the main plate LD3000 &
0T5-016-01 FHCS, M3 X 8 1.90
! ? (2mm Hex wrench needed to tighten) LD3500 $
LD3000, LD3500,
Used with OTS-011-01 Screw mounted on LD6000 &
0TS-022-01 Hex Key, 3/16" LDX6000 Series, | $ 1.90
PRT-019-01
LD8000 &
LDX8000 Series
fi i he PCB he PCB LD
0TS-024-01 Hex Stand-off for PCB Used for mountlngf e PCB onto the PC 30000 & S 1.90
mounting plate LD3500
OT5-026-01 BHCS #4-40 X 25" Used for mounting Fhe PCB onto the PCB LD30000 & s 1.60
mounting plate LD3500
Very thin Washer for smooth adjustment
of PRT-018. Also used for permanent | LD6025, LD6050,
0T5-028-01 1 i I, (MIL N960-C10L, 1.30
#10 Washer, Stainless Steel, (MIL Spec AN960-C10L) mounting of Sensor Bracket and Brush LD6100 $
Holder
LD6000 &
Rubber Feet used on the bottom of all | LDX6000 Series,
0OTS-040-01 Rubber Feet 1.40
ubbertee Machines Losooo& | °
LDX8000 Series
LD6000 &
. Only Used if for some reason your existing| LDX6000 Series,
0TS-043-01 T B, #10-16 X 1" (.125" 1.50
Screw, Thread Forming Type B, #10-16 X 1" (125" Hex) 1" 10-32 screw became stripped out. LD8000 & $
LDX8000 Series
LD6000 &
. Used in harnessing wire assembly inside | LDX6000 Series,
0OTS-050-01 Cable Tie M t 1.40
able Tie Moun the machine g0 | °
LDX8000 Series
LD6000 &
Used in harnessing wire assembly inside | LDX6000 Series,
0TS-051-01 i 1.10
Cable Ties the machine lbsocos | °
LDX8000 Series
LD8000,
Used as the axis point for the brush :
0OTS-054-01 10-32 Stainless Shoulder Screw sed as the axis point for the brush LDX8000, |$ 6.0
holder for the LD8000 and LX 8000 Series .
LDXL8000 Series
LD6000 &
Used f di int on the AC Label | LDX6000 Series,
0T5-055-01 #10 Stainless Steel Star Washer (EXTERNAL Teeth) sec for grounding point onthe £~ tabe el s 110
Dispensers LD8000 &

LDX8000 Series

01.2017




ISPENSERS =~ NON-ADHESIVE CUTTERS

LabelMoto
DISPENSER
Parts List

Part # Description Notes Used On | Price
LD6000 &
Used f ding point on the AC Label | LDX6000 Series,
0OTS-055-02 #10 Stainless Steel Star Washer (INTERNAL Teeth) sedtor groun |_ng point onthe ave eries S 1.10
Dispensers LD8000 &
LDX8000 Series
Needs Screw OTS-002-01 t :
PRT-003-01 Strip Plate For LD6000 - cecs Serew OPTOPETY | | D000 Series | $ 2670
mount
PRT-003-02 Strip Plate For LDX6000 - Needs Screw O:ns;ﬁ?:m toproperly || 6000 Series | §  28.50
N T5-002-01 :
PRT-003-03 Strip Plate For LDS000 - eeds Screw Onfoﬁ(:t Oltoproperly | | heno0 series | $ 26.20
PRT-003-04 Strip Plate for LD3500 Series - Needs Screw OTS-002-01 to properly LD3500 $ 2410
mount
LD3000, LD3500,
LD6000 &
PRT-005-01 Material Guide for Guide Rod, Large (Standard) 1" ID For use with PRT-016 and PRT-016.1 LDX6000 Series, | $ 8.30
LD800O &
LDX8000 Series
LD6000 &
PRT-076-01 Material Guide for Guide Rod (Metal), Large 1" ID m For use with and PRT-016.1 and PRT-016.2 LDXL?;;%%ZQ;ES’ $ 2210
LDX8000 Series
T5-002-01 -003-01| LD
PRT-011-01 Motor Cover for LD and LDX Series Dispenser Needs Screw OTS-002-01 and OTS-003-0 6000& |« 4510
to properly mount LDX6000 Series
PRT-011-02 Motor Cover for LD3000 &LD3500 Needs Screw OTS-002-01and OTS-003-01 | LD3000& | o 55,5
to properly mount LD3500
PRT-011-04 Motor Cover for LD800O & LDX8000 Needs Screw 0T5-002-01and OTS-003-01|  LDS000& | ¢ g ¢
to properly mount LDX8000 Series
LD3000 &
PRT-013-01 End Cap for Motor Cover Needs Screw OTS-004-01 to properly LD3500 Series, s 1940
mount LD6000 &
LDX6000 Series
PRT-014-01 Main Plate for LD6000 and LDX6000 LD6000 & $ 70.90

LDX6000 Series

01.2017




G START

Inte

rnational

ISPENSERS =~ NON-ADHESIVE CUTTERS

Industrial Taping & Labeling Solutions

LabelMoto
DISPENSER
Parts List

01.2017

Part # Description Image Notes Used On | Price
PRT-014-05 Main Plate for LD3000 & LD3500 LD3000 & $ 67.70
LD3500
PRT-015-01 Take-Up Hub Roller - 1.5" For LD800O, 5.5" Length - Needs 2 Set Screws, OTS-015-03 LD8000 Series | $  20.10
PRT-015-02 Take-Up Hub Roller - 1.5" For LDX8000, 8.5" Length - Needs 2 Set Screws, OTS-015-03 LDX8000 Series | $  24.10
PRT-016.1-01 Take-Up Hub - 1" For LD3000, 2.75" Length Needs Screw, OTS-015-02 to mountoonto | LD3000& | o, 4,
motor shaft LD3500
PRT-016.1-03 Reel Hanger Bar - 1" For LD6000, 5.5" Length Needs Screw, OTS-011-01 to mountonto | | e e | ¢ 15.50
PRT-019-01
N T5-011-01
PRT-016.1-06 Reel Hanger Bar - 1" For LDX6000, 7.75" Length ' eeds Screw, O i:T 010 tomountonto | | - e600 Series | $ 15.90
ol
PRT-016.1-07 Reel Hanger Bar - 1" For LDX8000, 8.25" Length ' Needs Serew, OTS-011-02 to mountoonto || o0 oo | 8 1550
main plate
T5-011-01
PRT-016.1-09 Reel Hanger Bar - 1" For LD3000, 3.1" Length Needs Screw, OTS-011-01 tomount onto || 350 nasag | & 12.30
PRT-019-03
PRT-016.1-11 Take Up Hub Roller for LD3000-J, 3" Length Needs Serew, OTS-015-02 tomountonto | - pan0 | s 1470
motor shaft
PRT-016.1-12 Reel Hanger Bar for LD3000-, 3.35" Length Needs Screw, OTS-011-01 tomountonto | pan0 |6 1579
PRT-019-03
PRT-017.1-02 Take-Up Hub Roller - 1.25" For LD6000, 5.5" Length Needs Screw, OTS-015-01 tomount onto | | o0 coraies | 5 25.10
motor shaft
PRT-017.1-03 Take-Up Hub Roller - 1.25" For LDX6000, 8" Length - Needs Screw, (:jt'grl;z;m mountonto || 1y en00 Series | $ 27.00




S

START

Internatior

L DISPENSERS =~ NON-ADHESIVE CUTTERS

Industrial Taping & Labeling Solutions

LabelMoto
DISPENSER
Parts List

Part # Description Image Notes Used On | Price
LD6000, LD800O,
PRT-018.1-02 Photo Sensor Mounting Bracket for LD6000, 5.5" Length LDX8000, $ 16.60
LDXL8000 Series
PRT-018.1-03 Photo Sensor Mounting Bracket for LDX6000 LDX6000 Series | $  25.20
PRT-018.1-04 Photo Sensor Bracket for LD2000, LD3000, 2.75" Length L?sgggo& $ 1110
LD.
PRT-018.1-05 Photo Sensor Bracket for LD3000 & LD3500, 2.75" Length L;gsgo& S 7.10
Two OTS-011-01 screws needed, This part
is an optional accessory for the LD3000 |LD3000, LD3500,
PRT-019-01 Reel Holder Arm for LD6000 and LDX6000, 8" Length and LD3500. It is a necessary part to hang LD6000 & $ 17.10
the machine from the rear 1/4" hanging | LDX6000 Series
bracket.
LD3000 &
PRT-019-03 LD3000 & LD3500 Reel Hanger Arm Two OTS-011-01 screws needed LD3500 S 1470
PRT-020-01 Lock Rod for LD3000 & LD3500 LD3000& S 6.90
LD3500
PRT-020-02 Lock Rod for LD3000-J LD3000-) $ 9.80
PRT-020.1-03 Lock Rod for LD6000 Series LD6000 Series | $  10.10
PRT-020.1-06 Lock Rod for LDX6000 Series LDX6000 Series | $  12.10
PRT-020.2-01 Lock Rod for LD800O Series LD8000 Series | $  13.00
PRT-020.2-02 Lock Rod for LDX8000 Series LD8000 Series | $  14.40

01.2017




LabelMoto
DISPENSER
Parts List

01.2017

Part # Description Image Notes Used On | Price
PRT-021-01 Strip Plate for LD3000 Needs Screw OTS-002-01 to properly LD3000 $  13.00
mount
PRT-021-03 Strip Plate for LD3000-J Needs Screw OTS-002-01 to properly LD3000J | $ 13.60
mount
PRT-022-01 Guide Rod Bumped for LD3000, 2.75" Length Needs Screw O:ns;ﬁ:fm toproperly | 3000, L3so0| § 8.0
N TS-002-01 y | b i
PRT-022-03 Guide Rod Bumped, 5.5" Length eeds Screw OTS-002-01 to properly 6000 Series, | 41 59
mount LD8000 Series
PRT-022-04 Guide Rod Bumped for LDX6000, 8" Length Needs Screw o:ns;?l?:m foproperly || 6000 Series | §  12.30
N TS-002-01 !
PRT-022-07 Guide Rod Bumped for LDX8000, 8.25" Length eeds Screw On’?o‘l)ﬁt Oltoproperly | | 18000 Series | $  12.70
PRT-022-09 Guide Rod Bumped for LD3000-J, 3.3" Length Needs Screw o::;?f]i'm to properly 1D3000-) |$  9.90
LD3000, LD3500,
LD6000 &
PRT-023-01 Material Guide for Guide Rod, Small Part fits on PRT-022 Guide Rod LDX6000 Series, | $ 3.50
LD8000 &
LDX8000 Series
PRT-024-01 LDX6000 Base Extension, 8.75" LDX6000 Series | $  43.60
LD8000,
PRT-31-01 Brush Holder Tensioner for LD8000 Series LDX8000, $ 3110
LDXL8000 Series
Used on Versions of the LD6000 Series
PRT-032-01 Guide Rod Spacer, .25" x .6" from 2013, not necessary for machine to | LD6000 Series | $ 4.20
function properly
PRT-037-01 Main Plate for the LD8000 LD8000 Series | $ 109.10




S

\\‘
START

Intern

ational

DISPENSERS ~ NON-ADHESIVE CUTTERS

Industrial Taping & Labeling Solutions

LabelMoto
DISPENSER
Parts List

01.2017

special requirements.

Part # Description Image Notes Used On | Price
PRT-037-02 Main Plate for the LDX8000 ' LDX8000 Series | $ 117.10
LD8000,
PRT-038-01 End Cap for Motor Cover for LD8000's LDX8000, $ 3210
LDXL8000 Series
PRT-040-01 Back Support for the LD8000 Series q Needs Screw, OTS—_OO4—01 to mount onto LD8000 Series | §  41.10
main plate
N TS-004-01 t it ont
PRT-040-02 Back Support for the LDX8000 Series eeds Screw, OTS-004-01 tomount onto | | o e000 Series | §  57.10
main plate
PRT-041-01 Strip Plate for the LD8000 Series (5.5" Wide) . LD8000 Series | $  65.10
PRT-041-02 Strip Plate for the LDX8000 Series (8.5" Wide) . LDX8000 Series | $  79.10
PRT-042-01 Photosensor Mount for the LD3000 and LD3500 Needs Screw, OTS-007-02 to mountoonto | - LD3000& | 0,
the sensor bracket LD3500
TY 4 of OTS-024-01 and OTS-026-01 LD3000 &
PRT-058-01 PCB Mounting Plate (Plate Only) arv4o an are $ 16.90
needed to mount the PCB LD3500
LD6000 &
PRT-059-01 Nut Plate for Standard Photo Sensor Needs Screw, 0TS-007-01 to mount onto | LDX5000 Series, S 6.90
the sensor bracket LD8000 &
. . LDX8000 Series
LD6000 &
PRT-059-02 Nut Plate for Clear Photo Sensor LDX6000 Series, $ 1410
LD8000 &
LDX8000 Series
4 f This is used to fill in the open space in the
PRT-091-01 Lock Rod Space Filler for LD6000 & LDX6000 lock rod. LD6000& | ¢ 1,9
Only used for those clients that have LDX6000 Series




